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5 Hi g5k 2008 4 2010 4 2012 4
1 Preg. . EWi 110 TFC = I/ Wi 97 TR« I/ W 96 T 5L« I/ W
2 A B I 60 T bC « I/ W 58 T hL = I/ W 56 T kL = I/ W
3 fHEG R 22 TFC « I/ m 20 T-FL « I/ mg 18 T-FL « W/ W
4 AL B 29 TIC « B/ W 26 Tk« B/ M 25 Tk« B/ M
5 Froes 7 25 TFC « B/ Wi 23 TFL « B/ Wi | 21 TFC « B/ 0
6 EEF. e 31 TIC = mf/ 27 TBC « I/ m 26 TFL « I/ mi
7 by 65 T L « Bf/ W 62 T-FL o I/ M 60 T-FL o B/ M
8 HE 3k 50 T-FL = B/ Wl 45 TFL = I/ W 42 T« I/ W
9 [y 52 TG « I/ Wl 51 T-FL = B/ Wl 50 T-FL = B/ Wl
10 (B 30 T b « B/ W 28 T-FL « B/ g 27 T b0« W/ g




